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If the point (2, 7) is on the graph of an equation in x and y, then the equation is satisfied when we

Is the point (2, 7) on the graph of the equation 2y = x + 3?7

2
_ q.(ﬂv) =2 ¥3 I
Complete the table. 1 =S 7 %—/

X y (X'y)
\ O-I,:-‘“—S ( '-;‘1='11
-2 (a3 )] 29=-23°
13g—|+3=2'—'7 9= -Jf,;l
e (e ) .
Q_.,j—_o.lr?-;% -7 Y= 3
o % |0k )
2y = 143=4 -7.7=9‘
e (w2 )
s —=7 7=£
(S = W3 =5 >
2 |~y )™

Sketch the graph.
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(a) To find the x-intercept(s) of the graph of an equation, we set equal to 0 and solve for . So
the x-intercept of 5y = x + 1 is :] . \j D4

2
(b) To find the y-intercept(s) of the graph of an equation, we set equal to 0 and solve for . So
the y-intercept of 5y = x + 1 is :I . % j
(a) If a graph is symmetric W|th rﬁspect to the x-axis and (a, b) is on the graph, then ( ) is also on the
graph.
3
(b) If a graph is symmetric W|th respect to the y-axis and (a, b) is on the graph, then ( ) is also on the
) N
(c) 1If a graph is symmetric about the origin and (a, b) is on the graph, then ( ) is also on the graph.
()
2%
The graph of an equation is shown below.
4

@
(a) The x-intercepts are (x, y) = ( ) (smaller x-value) and (x, y) = ( ) (larger x-value)
and the y-intercepts are (x, y) = ( ) (smaller y-value) and
(x,y) = ( ) (larger y-value).

(b) The graph is symmetric about the .
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Determine whether the given points are on the graph of the equation. a EB e S
5 y=v1i-x; (2,1),(-3,2),(01) ST
7 Vicz =N =L éTP\—— ton B’
(2, 1) (o_,l\ : 1 =\ d-: collec
O Yes —-SL“'
O No real m“hs'

<
(=3 ("7,'\-30 r’— _ m _—\/q =2 . 1:. s o~
p =\[i- ¢ S
@ > &,—M—"’ Dr e

O No
o T8 (5 =

es

O No

Determine whether the given points are on the graph of the equation. (Select all that apply.)

6 2 _ 4. 1y (. 1 ?
v+ =1 @, (3 5) (-3 ) (AN = 1a=2 2 N
O The point (1, 1) is on the graph of the equation. ) /0 s
(BN (X9 () (=) = 1 = lhes

e point (3, 110) is on the graph of the equation.

L—E;)((—?S"-H\)s (3% :"—o(,;)-_- W

O Ahe point (—3, 110 ) is on the graph of the equation.

O None of these points are on the graph of the equation.
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Determine whether the given points are on the graph of the equation. (Select all that apply.)

2 2 /15 1 wele e
2 — 4. - = V (A r
7 =4; (0, 2),(»5, 73 ) (T 7) C: A4y
@The point (0, 2) is on the graph of the equation. (0.0
@e pomt ) is on the graph of the equation.
V2 )
/15 1
@ e pomt( 5 2) is on the graph of the equation. (_q_ 0\ n ‘(— ﬁ
- \(2-
J None of these points are on the graph of the equation. y \“{-VB =
Co,~ % 2
Do rdiedb

a - -
\(\< _ 5 2\* 27 1 of 2 ved
-4 ¢ 2 +l3) = ¢ Prodve )

' 0N

1 i o nadend
L .H. 0
2" A J
ﬁ 6 (-“A, COnr' 5 4

Make a table of values for the equation.

8 y = —4x
x y
-1 \_l lj-;_\-‘(—\) ——‘4
0 o
1 -9 g= =490) = -4
2 v:“‘(m\f—’e

Sketch a graph of the equation.
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9

Make a table of values. M é‘m_./\ J FJ'\M“ [qlvh a$+)

3x + 5y = 30 S'J—-MJMJ T‘%‘?M /LMJ:AUC pJ’ NIJ-and
%
x i ol Sy=10 =7 j=3-;;-'=4
-3 ( olo  ayz30 = xz10
/\.
-2 (o,,.\ Uala
-1
o |[ G
S Wit Webdssiy Werdr”
.| s 3E¥Sy =2 3¢ 45y =30
L6 AR w =te
Sketch the graph of the equation. g‘j"' ?("
sy = 39 e
,=3 Y=
-l Yo ti s
¥=-l: _ x=2' =3
BN 6y =39 3NVTY =T LaEwTy=30 3@y sie
= 0
-34Sy =30 345y =3 Lisy=30 a4 +5y=30
+3% =% ;\qu_:- $y=24 Ty=1l
e
S_\7$33 v)= i _ 1_—,_‘ - 1_'.'_
9= N 17T 1% %
[y
~
Make a table of values for the equatior’r,{) »7
y=x2_1 x"‘_\; o
10 — . x>t
_2 6 2 |-73 ﬁ ;\(T
*x=1
-1 (5-1=9 -
(\,o\/ (-1,0)
2 (= -\
0 -\ o ~ g
0 1=0 —g-':_
1 (-’L\ =_\,\-I
iz -1=3
2 L

Sketch a graph of the equation.
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1-02-graphs-in-2-variables.notebook

August 27, 2023

10 - Graphing Part
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11

12

Make a table of values.

y=Ixl -4

Make a table of values for the equation. Pﬂ/\ "L”Qﬁ\ IJ—, a X1'4'5)‘ +c
y=9-x2 - _x"-l—ﬁ T on xv g-’p(—'-J GCroSS X—GA'E 4- wnwfd
: = up 9.
-2 g _ ‘I.M
5:—71’ L g J (0,93
N % X X
(2\o)
0 §
' ® DN+ =-T 4 = —uyg=S
2 g (-G -1+ = -1 +4=8
-0 +4= 4

Sketch a graph of the equation.

Sketch the graph of the equation.

Ff xzo0
4]=3 |—3l=3 _ X
l / ‘X‘ —{-—X ;.c XLO

Dowh v
‘ fo
/ Lo
= (-¢=-3
(1,-2)
(o,
L —
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Make a table of values.

! | % +4]

13 y = |x + 4|

\9’|’3¥\l|=||)=—. y= vl =

O —

ys (-244(=\%X1=2 9= lhivl=¢
= 3¢tl=3

o
ot
s ,z\_ml-_g )
2 = lo 4l =

T‘L\; doeg~ '} caphun wheo —h\. Lx is

Sketch the graph of the equation. 'PO'V",'S w:"‘\'“'t Mj )J-G& af-\«« slmp' S\-‘.CZS

Make a table of values, and sketch the graph of the equation. Find the x- and y-intercepts, and test for symmetry.

(a) 4x-y=28 )
Make a table of values, and sketch the graph of the equation. o "'9 Y= 8
HYx=8 -7 x=2
/‘\ ]{4_,05 -
- > x
(b) y=a(x-12 = N {x=2x+D = y 3 g x+ Y (o,-8)

Make a table of values, and sketch the graph of the equation.

Lo " NOTE: The Parabola Graphing Tool on WebAssign only
Sd 40 ';_"’ needs 2 points! I'm sneaking in spoilers on graphing these
1 o \'(|-|) =0 . . . . .
things in the video, in the meantime.

2 e ey wg,cﬂw LD

Yy
L% Q& X — X+1

Cr ,0)
Find the x- and y-intercepts. (If an answer does not exist, enter DNE.) 2
gk A=B =
x-intercept  (x, y) = ( ‘l 2] —_
g(x-3=0 \‘74"' = \(B ==

y-intercept  (x, y) = ‘( x-Y'= O
\

Y= (0-V% (-T2 4ay= ¢
Test for symmetry. (Select all that apply.) ( X—" ) -A -+ \(B‘
[J The graph is symmetric with respect to the x-axis. K-tz -\_-_O =0 -
[J The graph is symmetric with respect to the y-axis. =
[J The graph is symmetric with respect to the origin. —~ C\, 0)

-3\=3

he graph is not symmetric with respect to the x-axis, the y-axis, or the orlgin.
x Ff x=0
| > |-
-x F x<2
\ A ] = 3 =
=R

nece sSen

T, g'jauc".
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Make a table of values, and sketch the graph of the equation. Find the x- and y-intercepts, and test for symmetry.

15 (@) y=Vx+4

Make a table of values, and sketch the graph of the equation.

Find the x- and y-intercepts. (If an answer does not exist, enter DNE.)

Xx-intercept (x, y) = ( )

(Lot )

Test for symmetry. (Select all that apply.)

y-intercept (x, ¥)

T (0,0

[J The graph is symmetric with respect to the x-axis.

[J The graph is symmetric with respect to the y-axis.
(_LThe graph is symmetric with respect to the origin.
@ e graph is not symmetric with respect to the x-axis, the y-axis, or the origin.

(b) y=-Ix|

Make a table of values, and sketch the graph of the equation.

Find the x- and y-intercepts. (If an answer does not exist, enter DNE.)

( 0,0 ) (‘/2 LD

( o0 |) 9=t ) 9=" 1

x-intercept (x, ¥)

y-intercept (x, )

Test for symmetry. (Select all that apply.)
[J The graph is symmetric with respect to the x-axis.
Pe graph is symmetric with respect to the y-axis.
[J The graph is symmetric with respect to the origin.

[J The graph is not symmetric with respect to the x-axis, the y-axis, or the origin.
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(@) y=vx-2

Make a table of values, and sketch the graph of the equation.

A T+ cxif"s( There Exisrs

Y

¢4 ww ol
»H - oW

C—L:K— = | (’LtD\ >
@'—'L:\ﬁ, x
m:ﬁ-‘-l / *-2Z

Find the x- and y-intercepts. (If an answer does not exist, enter DNE.)

(
(

Test for symmetry. (Select all that apply.)

x-intercept (x, y)

no )

DNE )

y-intercept (x, v)

() The graph is symmetric with respect to the x-axis.
(O The graph is symmetric with respect to the y-axis.
he graph is symmetric with respect to the origin.

O

e graph is not symmetric with respect to the x-axis, the y-axis, or the origin.

(b) x =yl

Make a table of values and sketch the graph of the equation.

2 DNE _|:l\jl

Make a table of values, and sketch the graph of the equation. Find the x- and y-intercepts, and test for symmetry.

vz x4 e o ds side

.’—r‘n,« fs/

o 0=|~)l=0"’—7 Lj=o/7£7—;|
\

oo el ];|\3l=+l == = k| \"J"‘?
a  "yvalues 1 whew /

?L - % giwes AP ona lj ]

x=\_q.l-:',)_=x x—_la_(‘=7—

Find the x- and y-intercepts. (If an answer does not exist, enter DNE.)

( O/ 9 )
Tegtforsymmetry. (Select all that apply.)
&- graph is symmetric with respect to the x-axis.

[J The graph is symmetric with respect to the y-axis.

x-intercept

(x, ¥)

y-intercept (x, y¥)

0,0 )

(J The graph is symmetric with respect to the origin.

[J The graph is not symmetric with respect to the x-axis, the y-axis, or the origin.

10
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Make a table of values, and sketch the graph of the equation. Find the x- and y-intercepts, and test for symmetry.
<
— . A e —
17 @ y=-Vo -2 = \3=x" x Na-6v =
. . . R Y o= =Vt =-\o
Find the x- and y-intercepts. (If an answer does not exist, enter DNE.)

o\-2 \oF =-@=-
x-intercept  (x, y) = (|:| ) | -‘(ﬁ -\lo & = q:-3

\ o xeiwkercaphe)!

y-intercept (x, y) = ( )
L GO

L - 2 —~
Test for symmetry. (Select all that apply.) ( ) = o
[ The graph is symmetric with respect to the x-axis. °I—X~= o
[J The graph is symmetric with respect to the y-axis. ce=—
[J The graph is symmetric with respect to the origin. al;,.__ -5

[J The graph is not symmetric with respect to the x-axis, the y-axis, or the origin.

Extra: This Thing Is Circular!!!

L9=_m: =

7

o

ﬁ e
1

wf\

-4
x=%3
"1 .‘—‘j’\- - q Ts a g.‘rc.lf ,-pralnus 3 cenﬂrd
-, s ]
ot +he orijin: (s '?3
Solve For v :
@ =
\7 = Q’ X
2+ = \(:—-;’
'
(b) x=y>
Make a table of values, and sketch the graph of the equation.
%X
-1 | =
Find the x- and y-intercepts. (If an answer does not exist, enter DNE.)
O| 0 .
x-intercept  (x, y) = (|:| ) ! 1
L d

y-intercept (x,y) = (|:| )

Test for symmetry. (Select all that apply.)
[J The graph is symmetric with respect to the x-axis.
[J The graph is symmetric with respect to the y-axis.
he graph is symmetric with respect to the origin.

[J The graph is not symmetric with respect to the x-axis, the y-axis, or the origin.

5 SW‘A'? AAmrJ (‘Hﬁk)

e ra b
('Iu"” - 9

11
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Find the x- and y-intercepts of the graph of the equation. (If an answer does not exist, enter DNE.)

= X
18 (2) y=x+5 a_f_v; Jois
x-intercept  (x, y) = ( —g'l 0 ) -slo ozx+ =7
-$ =*
y-intercept (x,y) = ( 0,;) ) 7 =05
(—-f,d’ Ca,.s')
(b) y=x?-7
x-intercept (smaller x-value) (x, y) = ( —\E.’ o ) x_..'.J-f
K==

x-intercept (larger x-value) (x, y) = ( .Fq_— ,0 ) =
y-intercept (x, y) = ( D,_‘:[— ) (0,—?-\ v x"’-:_r?:

Ixl=Va

Test the equation for symmetry. (Select all that apply.)

y=x3+16x
19

The graph of the equation
() The graph of the equation

he graph of the equation

is symmetric with respect to the x-axis.
is symmetric with respect to the y-axis.

is symmetric with respect to the origin.

Sy by’
ﬂ(pﬂqu x L7 -A ‘d j& 4—\7.' '7—0\)0‘5' 'acbf
G =W v ‘e —7: DRIGUN _7\4
.. y ey " x x=axg £
= Kby )

(—;8’ ¥ |L(—X) = - K3 Ax = - (x—"‘-'('x)= -y.

{ 4 = -1 s—-(é = -
((..)(ﬂxg—tbx = N(xY -wx % X cj

~fex = (—h\‘b-’- 1L (- Gr\res =X
17\_:2' -y IAOJJ g /v ‘1‘"\' SCunp +X

= - (_x"-u—lbx\ z =%

Foa o-axis vyre—e

e,

12
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Test the equation for symmetry. (Select all that apply.)

X884 xh4 =g
(J The graph is symmetric with respect to the x-axis.
(J The graph is symmetric with respect to the y-axis.

(J The graph is symmetric with respect to the origin.

y-axs

> yleRds +9
° y® # (¥4 = 8

x"js + x"l"‘j —8 SM ./ (Gz;_.‘.lq.a«'L) X_g;s

x-“n‘( °

N L A A
. Nes
(- Sl b (U =

xsys + )l-'jq =8 I/
Yas

-~
-

/

—10

21

Complete the graph using the given symmetry property.

Symmetric with respect to the y-axis

13
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Complete the graph using the given symmetry property.

Symmetric with respect to the x-axis

22

y
6l

Symmetric with respect to the origin

23

Complete the graph using the given symmetry property.

14
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24

N B o

(a) Symmetry about the x-axis (@)

(b) Symmetry about the y-axis

8
6
4

A

Add line segments to the graph so that it exhibits the indicated symmetry. In each case, add as little as possible.

(%)

-6 -4 -2

oo
®» o & 0N

(c) Symmetry about the origin

()

2%

4

6

oke!
\ul\, ) L M"'
\]—_x P !
ek ge 7T )
( VISl <
m (" e \{-”'d‘bﬂ
LA

15
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EXTRA! Sneak Preview of Basic Functions for More Insight into some of these
exercises and future exercises. In a way, I'm "spoiling the movie" the WebAssign has

all laid out, but I just can't help myself.

The Identity Fuction g =x
=X /N “) y— 4y

y Jox ’

LAY/
-t]-1 ‘ \/(\;-r\

O
oo
7%
' \ (- |- A <o) (_\'_q\
K

Symmetric through (or "about") the origin.
Thit wtams ¥ (x,j) S o~ o TQPL’ so ¢ (—Xf'b)

Square Function

ijj (-, D WO Thy 3¢ éywv-'lf'"c about i y-Gxs
o\ 0 “ Gl Moden o
W ’ You wa—to ol oL ac
i ¥ K
-4 (1,4 17>%Y

2
q(x-) Riawt |
X b=—p R+
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Absolute Value Function

y=|

Square Root Function

J’Z\/; T %

¥ an
o\o T(v,o\
BN
Note %20 s naeded o ll—e-ep (X ve<l.
9
(4, No Symmetry
—2 %

17
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